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Тема урока

Замена двузначного 
числа суммой разрядных 

слагаемых



36 = 30 + 6

дес. ед. дес. ед.



Замени

15 =   …   + …10 5

28 =   …   + …20 8

37 =   …   + …30 7

84 =   …   + …80 4

56 =   …   + …50 6

65 =   …   + …60 5



Выполни письменно №1 на стр. 15

Проверяем

59 -   …   = 509

90 +   …   = 966

….  +  40  = 488

…. - 60  = 666

83 -   …   = 380

97 -   …   = 907



Выполни устно 
№2

Ширина стола – 60 … 

Высота стула – 4 … 

Толщина стекла – 5 … 

см
д
м
мм



Выполни письменно №3

1) 5 + 3 + 2 = 10(м)

Ответ: длина шланга 10 м



Выполни устно №4

1 букет -

2 букет -

5 гв.
?, на 2 гв. 

<

?

1) 5 – 2 = 3 (гв.)

2) 5 + 3 = 8 (гв.)

3 гв.

Ответ: 8 
гвоздик.

Проверяем



1 букет -

2 букет -

5 гв.
?, на 2 гв. 

>
?

1) 5 + 2 = 7 (гв.)
2) 5 + 7 = 12 
(гв.)

7 гв.

Ответ: 12 
гвоздик.



Выполни самостоятельно 
№5

Симметричные 
фигуры


